Depth (m)

—500}

—1000

—1500

—2000

DOY 10

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 12

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 14

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 16

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 18

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 20

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 22

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 24

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 26

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 28

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 30

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 32

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 34

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 36

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 38

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 40

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 43

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 45

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 47

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 49

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 51

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 53

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 55

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 57

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 59

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 61

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 63

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 65

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 67

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 69

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 71

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 73

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 75

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 77

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 79

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 81

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 83

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 85

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 87

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 89

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 91

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 93

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 95

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 97

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 99

0608 1.012141.61.82.0 —100 =50 0 50 100

Density + 1026 (kg m™?)

Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 101

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 103

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 105

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 107

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 109

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 111

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 113

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 115

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 117

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 119

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 121

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 123

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 125

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 127

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 129

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 131

-

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 133

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 135

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 137

0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0
Density + 1026 (kg m™3)

—100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 139

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 140

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 143

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 145

0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0
Density + 1026 (kg m™3)

———
————

—100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 147

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

DOY 149

0 I
—500] || T
—1000|

—1500|

2000

0608101214 1.61.82.0 —100 =50 0 50 100
Density + 1026 (kg m™3)  Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 151

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 153

0608 1.01.2141.6 18
Density + 1026 (kg m™9)

20 —100 =50 0 50 100
Thorpe Displacement Length (m)



Depth (m)

—500}

—1000

—1500

—2000

DOY 155

|

0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0
Density + 1026 (kg m™3)

—100 =50 0 50 100
Thorpe Displacement Length (m)



